Rajiv Gandhi University of Health Sciences, Karnataka First Year M.Sc. Clinical Psychology Degree Examination – 03-Jan-2022

Time: 3 Hours

PSYCHOPATHOLOGY – PAPER – I (RS) Q.P. CODE: 8058

Your answers should be specific to the questions asked Draw neat, labeled diagrams wherever necessary

Answer All The Questions

10 X 10 = 100 Marks

Max. Marks: 100

- 1. Write a note on female sexual dysfunctions
- 2. Elaborate on the behaviour model of psychopathology
- 3. Discuss the methods of diagnosing specific learning disabilities, their prevalence and common co-morbidities
- 4. Discuss the clinical symptomology of bipolar disorder
- 5. Write an essay on lobe functions
- 6. Discuss the distinguishing features of Alzheimer's and how it develops
- 7. List the prominent psychological theories of Cluster a personality disorders
- 8. Differentiate the medical vs the community mental health model
- 9. What is an MSE? Briefly discuss the purpose and components of a psychiatric MSE
- 10. Elaborate on the psychopathology of Phobia

Rajiv Gandhi University of Health Sciences, Karnataka First Year M.Sc. Clinical Psychology Degree Examination - <<>>

Time: 3 Hours

Max. Marks: 100

THEORIES OF PERSONALITY PAPER – II (RS) Q.P. CODE: 8059

Your answers should be specific to the questions asked Draw neat, labeled diagrams wherever necessary

Answer All The Questions

10 X 10 = 100 Marks

- 1. Write the assessment in the study of personality
- 2. Write a note on cognitive development from infancy to old age
- 3. Explain the determinants of personality
- 4. Discuss the concepts of Carl Jung's theory
- 5. Write a note on trait theory of personality
- 6. Compare and contrast classical conditioning and operant conditioning
- 7. Discuss the contribution of existential theories in understanding personality
- 8. Write a note on attachment theories
- 9. Discuss Zen and Bhuddist contributions to personality development
- 10. Elaborate on any one trait theories of personality

Rajiv Gandhi University of Health Sciences, Karnataka First Year M.Sc. Clinical Psychology Degree Examination - <<>>

[Time: 3 Hours]

[Max. Marks: 100]

PSYCHOLOGICAL ASSESSMENT - PAPER - III (RS) Q.P. CODE: 8060

Your answers should be specific to the questions asked. Draw neat, labeled diagrams wherever necessary.

Answer All The Questions

10 X 10 = 100 Marks

- 1. Explain the administration, scoring and interpretation of Rorschach Ink Blot test.
- 2. Examine the Geriatric rating scales.
- 3. Elucidate the procedures involved in personality inventories and questionnaires.
- 4. Explain the different tests used to assess Intellectual disability.
- 5. Discuss the steps involved in constructing a standardized test.
- 6. Explain the role and functions of Clinical Psychology.
- 7. Explain the role of Observation in clinical setting.
- 8. Describe the major classification of psychological test.
- 9. Write short notes on the following A) MSCEIT b) GARS
- 10. Elaborate on the major classification of psychological tests.

Rajiv Gandhi University of Health Sciences, Karnataka First Year M.Sc. Clinical Psychology Degree Examination – 10-Jan-2022

[Time: 3 Hours]

[Max. Marks: 100]

RESEARCH METHODS AND STATISTICS - PAPER - IV (RS) Q.P. CODE: 8061

Your answers should be specific to the questions asked. Draw neat, labeled diagrams wherever necessary.

Answer All The Questions

10 X 10 = 100 Marks

- 1. Explain the different types of research used in behavioral science.
- 2. What is hypotheses and explain its functions.
- 3. Elaborate on the probability sampling methods.
- 4. Examine the various survey methods in research.
- 5. What is measurement? Explain the levels of measurement.
- 6. What is probability? Explain the characteristics of normal probability curve.
- 7. Elaborate on content analysis of qualitative research.
- 8. Calculate mean and standard deviation for the following data 22,13,16,18,11,12,16,17,13,15,10,18
- 9. Write an essay on experimental research design.
- 10. Describe the process of editing, coding and tabulation with an example.

Rajiv Gandhi University of Health Sciences, Karnataka Second Year M.Sc. Clinical Psychology Degree Examination – 12-Jan-2022

[Time: 3 Hours]

[Max. Marks: 100]

COUNSELING AND PSYCHOTHERAPY – PAPER -I (RS) Q.P. CODE: 8062

Your answers should be specific to the questions asked. Draw neat, labeled diagrams wherever necessary.

Answer All The Questions

10 X 10 = 100 Marks

- 1. Compare and contrast between Individual, Group and Family approach to psychotherapy.
- 2. Discuss the salient features of Gerard Egan's model of counselling.
- 3. Examine the techniques used in classical psychoanalysis.
- 4. Illustrate script analysis with an example.
- 5. What are Miracle and Scaling questions? When are these questions used?
- 6. Write the steps involved in developing hierarchy in systematic desensitisation
- 7. When and how do you use stress inoculation training?
- 8. Describe the procedure used in behavioural contracting with children and adolescents.
- 9. Prepare a hypothetical treatment plan for the elderly facing domestic abuse and violence.
- 10. Write a note on the current trends in psychotherapy in India.

Rajiv Gandhi University of Health Sciences, Karnataka Second Year M.Sc. Clinical Psychology Degree Examination – 17-Jan-2022

[Time: 3 Hours]

[Max. Marks: 100]

HEALTH PSYCHOLOGY – PAPER -III (RS) Q.P. CODE: 8064

Your answers should be specific to the questions asked. Draw neat, labeled diagrams wherever necessary.

Answer All The Questions

10 X 10 = 100 Marks

- 1. Define health. Examine the illness-wellness continuum.
- 2. Discuss briefly the theories of stress.
- 3. Write a note on behavioural health.
- 4. Write a not eon psycho oncology.
- 5. What are the behaviour modification techniques for healthy living.
- 6. Discuss the strategies to help people with cognitive deficits.
- 7. Discuss the theories of pain.
- 8. Write a note on premenstrual stress and suggest methods to handle it.
- 9. Examine the interventions in the context of kidney disease.
- 10. Briefly explain the interventional dealing with chronic illness.

Rajiv Gandhi University of Health Sciences, Karnataka First Year M.Sc. Clinical Psychology Degree Examination – 05th Jan 2022

THEORIES OF PERSONALITY PAPER – II (RS) Q.P. CODE: 8059 Corrections

Replace Question No.10 as follows:

10. Elaborate on Banduras theory of social learning